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Worksheet for Review of Chapter 7-10

(Chapter 9-10)

1.  Balance the following equations:

a.  C3H7OH(l)   +   O2 (g)     (        CO2 (g)   +    H2O(l)  

b.  Fe2O3 (s)   +    CO(g)    (         Fe(s)    +   CO2 (g)  

c.  NaOH(aq)  +   CO2 (g)   (     Na2CO3 (aq)  +   H2O(l) .  

d.  Pb(NO3)2 (aq)  +   KI(aq) (    PbI2 (s)  +  KNO3 (aq)  

e.  H3PO4  (aq)  +   K(OH) (aq)  (     K3PO4 (aq)  +   H2O(l)   

3.  For the following reactants, determine if the single or double replacement reactions will occur.  If the reaction does occur, show the products and give the balanced reaction.  Then give the balanced net ionic reaction.  If the reaction does not occur, indicate why by showing the net ionic reaction.

a.  MgSO4 (aq)   +    Ba (s)   (      

b.  K2SO4 (aq)   +    BaCl2 (aq)  (
c.  (NH4)I (aq)   +    Cl2 (g)   (
d.  Na2S (aq)   +     Ba(OH)2 (aq)  (
e.  SnCl2 (aq)  +    Pb(s)   (
f.  Pb(NO3)2 (aq)  +   ZnCl2 (aq)  (
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2.  Please provide the appropriate chemical name and/or chemical formula for the following:

a. Cl1S3  

b. Aluminum oxide

c. Cu(C2H3O2)2            
d. Trichlorine pentoxide

e. Sn1(C2O4)2      
f. Iron (II) bicarbonate 

g. N1O2 

h. Carbon monoxide

i. F3I4 

3.  THESE ARE NOT SINGLE OR DOUBLE REPLACEMENT REACTIONS.  Use your knowledge of the different types of reactions,  charge of ions, and diatomic elements to predict the products of the following reactions.  (They all do react!!!)

a. C2H4 (g)   +   O2 (g)   (  

b. Ca(NO3)2 (s)  (
c. Silver   +   sulfur   (
d. Carbon  +   oxygen   (
e. Mercury (II)  oxide    (
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Tin is produced from its ore (tin oxide) in the following reaction: SnO2 (s)  +  C (s)  (  Sn (s)  +  CO2 (g) .   How many liters of carbon dioxide @STP do you have if you react  25.3 grams of tin oxide. 

Worksheet for Review of Chapter 7-10

(Chapter 9-10)

Page 4

Sodium hydroxide is added to barium chloride to produce sodium chloride and barium hydroxide.  If you want to produce 32.5 grams of the barium hydroxide, how many f.u. of the sodium hydroxide do you need to react? (Please write balanced chemical reaction including phases).
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You find that 7.36g of a compound has decomposed to give 6.93g of oxygen.  The rest of the compound is hydrogen.  If the molecular mass of the compound is 34.0g/mol, what is its molecular formula (and empirical/simple formula)?

